AL Chemistry (F.6) ---- Practical Section

Lab Quiz on Experiment 7
Time Allowed : 8 minutes

Name : ________________
Class: 6S (    )

Date : _____________

1.
Why addition of an antioxidant (such as sulphur dioxide) to wine is necessary?


________________________________________________________________________________________


________________________________________________________________________________________

2.
Write the chemical equation for the reaction between sulphur dioxide and iodine.


________________________________________________________________________________________

3.
Is the above reaction iodometric or iodimetric? Explain your answer.


________________________________________________________________________________________


________________________________________________________________________________________

4.
State the color change at the end point of this titration.


_________________________________________________

5.
Why the amount of sulphur dioxide added to wine should not exceed the limit of 450 mg dm-3  ?


________________________________________________________________________________________
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